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Use the table below to answer question 1. For simplicity, assume that the cost of producing crude oil is zero—the marginal cost of crude oil equals zero.
	Quantity
	Price

($/barrel)
	Total

Revenue ($)

	    0
	$160
	$     0

	  10
	  150
	1,500

	  20
	  140
	2,800

	  30
	  130
	3,900

	  40
	  120
	4,800

	  50
	  110
	5,500

	  60
	  100
	6,000

	  70
	    90
	6,300

	  80
	    80
	6,400

	  90
	    70
	6,300

	100
	    60
	6,000

	110
	    50
	5,500

	120
	    40
	4,800

	130
	    30
	3,900

	140
	    20
	2,800

	150
	    10
	1,500

	160
	      0
	       0


1. Suppose the crude oil industry is a duopoly and the two firms collude to share the market equally. The two firms are owned by Laverne and Shirley. In this case, the price of crude oil will be ________, Laverne will produce ________ barrels, Shirley will produce ________barrels, and both Laverne and Shirley will earn economic profits equal to ________.

a. $80; 80; 80; $6,400


b. $80; 40; 40; $3,200


c. $60; 50; 50; $3,000


d. $40; 60; 60; $2,400


e. $60; 30; 30; $3,000

2. Oligopoly is a market structure that is characterized by a ________ number of ________ firms that produce ________ products.

a. large; relatively small, independent; identical


b. small; independent; identical or differentiated


c. large; relatively small, independent; differentiated


d. small; independent; differentiated


e. small; interdependent; identical or differentiated

3. A duopoly is an industry that consists of:

a. a single firm.


b. two firms.


c. three or more firms.


d. a large number of small firms.


e. between four and ten firms.

4. If the only two firms in an industry agree to fix the price at a given level, this is an example of:

a. collusion.


b. satisfying demand.


c. price extortion.


d. price leadership.


e. price discrimination.

Use the table below to answer questions 5. The table shows the demand for wooden stakes in the town of Sunnyvale. Suppose the marginal cost of producing stakes is zero.  

	Price

($ per stake)
	Quantity

	$14
	30

	  13
	35

	  12
	40

	  11
	45

	  10
	50

	    9
	55

	    8
	60

	    7
	65


5. The only two firms producing wooden stakes, Spike Inc. and Buffy Co., get into a price war. The equilibrium price in the market will be:

a. $0.


b. $4.


c. $8.


d. $10.


e. $9.

6. Explain why each of the following industries is an oligopoly, not a perfectly competitive industry.
a. The world oil industry, where a few countries near the Persian Gulf control much of the world’s oil reserves. 
Theworld oil industry is an oligopoly because a few countries control a necessary resource for production,

oil reserves.
b. The microprocessor industry, where two firms, Intel and its bitter rival AMD, dominate the technology. 
The microprocessor industry is an oligopoly because two firms possess superior technology and so

dominate industry production.
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Synergy and Dynaco are the only two firms in a specific high-tech industry. They face the following payoff matrix as they decide upon the size of their research budget:

a. Does Synergy have a dominant strategy? Explain.

Synergy does not have a dominant strategy. If Synergy believes that Dynaco will go with a large budget, it will also choose a large budget. However, if Synergy believes that Dynaco will go with a small budget, it will want a small budget as well. 

b. Does Dynaco have a dominant strategy? Explain.

Yes, Dynaco has a dominant strategy of going with a large budget. It is the best strategy for Dynaco to follow no matter what Synergy chooses.
c. Is there a Nash equilibrium for this scenario? Explain. 

The Nash equilibrium is that both firms will choose a large budget. Dynaco will follow its dominant strategy so Synergy will choose a large budget as well.
Use the payoff matrix below to answer questions 2-3.
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2. Each has two strategies available to it: a high price and a low price. The dominant strategy for Purple Rain is to:

a. always charge a low price.


b. always charge a high price.


c. always adopt the same strategy as Blue Spring.


d. Purple Rain does not have a dominant strategy.


e. always adopt the opposite strategy as Blue Spring.

3. Suppose Blue Spring charges a high price and Purple Rain does the same. In the next period, Blue Spring charges a low price and Purple Rain earns a loss. Purple Rain's tit-for-tat strategy would be to:

a. always charge a low price when Blue Spring charges a high price, and charge a high price whenever Blue Spring charges a low price.

b. make random changes in its price so that Blue Spring is left with no systematic strategy.


c. charge a low price in the next period, and thereafter charge the same price that Blue Spring charged in the previous period.


d. always charge a high price, no matter what Blue Spring does.

e. charge a low price in the next period, and in every future period to punish Blue Spring for cheating on the agreement.
Use the payoff matrix below to answer questions 4-5.
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4. Given the payoff matrix in the figure, the optimal combination for maximum combined profit is for:

a. each firm to produce 30 million pounds.


b. each firm to produce 40 million pounds.


c. ADM to produce 30 million pounds and for Ajinomoto to produce 40 million pounds.


d. ADM to produce 40 million pounds and for Ajinomoto to produce 30 million pounds.


e. Each firm to produce the average of 35 million pounds.

5. Given the payoff matrix in the figure, the Nash equilibrium combination is for:

a. each firm to produce 30 million pounds.


b. each firm to produce 40 million pounds.


c. ADM to produce 30 million pounds and for Ajinomoto to produce 40 million pounds.


d. ADM to produce 40 million pounds and for Ajinomoto to produce 30 million pounds.


e. No Nash equilibrium exists in this game.

Use the payoff matrix below to answer questions 6-7.
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6. In the figure, the dominant strategy for CableNorth:

a. is to advertise.


b. is to not advertise.


c. is to do whatever CableSouth does.


d. is to do the opposite of whatever CableSouth does.

e. does not exist.

7. If the two firms in the cable TV market collude, then:

a. both firms advertise and each earns $100,000 per month.

b. both firms do not advertise and each earns $150,000 per month.


c. CableNorth advertises and earns $130,000 per month, while CableSouth does not advertise and earns $70,000 per month.


d. both firms advertise and each earns $130,000 per month.

e. CableNorth does not advertise and earns $70,000 per month, while CableSouth advertises and earns $130,000 per month.

8. An action is a dominant strategy when it is a player's best action:

a. regardless of the actions by other players.


b. given certain profit-maximizing actions of other players.

c. assuming the other players do not correctly anticipate the action.


d. if there is only one other competitor.


e. only if the other players are cooperating.

9. An unwritten, unspoken agreement through which firms limit competition among themselves is also known as:

a. a non-cooperative Nash equilibrium.


b. tacit collusion.


c. overt collusion.


d. a cartel.


e. a price war.

10. A dominant strategy equilibrium exists in a game when:

a. every player has no choice.


b. every player makes the same choice, regardless of the action of the other players.


c. each player makes the best choice, dependent upon the choice of the other player.


d. no player is able to dictate the actions of any other player.

e. each player randomly selects choices at each turn of the game

Use the payoff matrix below to answer questions 11-12.
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11. The Nash equilibrium in the cable TV market is when:

a. both firms set a low price and each earns $90,000 per month.

b. both firms set a high price and each earns $100,000 per month.


c. CableNorth sets a high price and earns $80,000 per month, while CableSouth sets a low price and earns $130,000 per month.


d. CableNorth sets a low price and earns $130,000 per month, while CableSouth sets a high price and earns $80,000 per month.


e. A Nash equilibrium does not exist for this game.

12. If the two firms in the cable TV market collude, then:

a. CableNorth will set a high price and earn $80,000 per month, while CableSouth will set a low price and earn $130,000 per month.

b. CableNorth will set a low price and earn $130,000 per month, while CableSouth will set a high price and earn $80,000 per month.

c. both firms will set a low price and each will earn $90,000 per month.


d. both firms will set a high price and each will earn $100,000 per month.


e. both firms will set a high price and each will earn $130,000 per month.
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Suppose that the fisheries agreement in the previous problem breaks down, so that the fleets behave non-cooperatively. Assume that the United States and the EU each can send out either one or two fleets. The more fleets in the area, the more fish they catch in total but the lower the catch of each fleet. The accompanying matrix shows the profit (in dollars) per week earned by the two sides.

a. What is the non-cooperative Nash equilibrium? Will each side choose to send out one or two fleets?

If the European Union has only one fleet, the United States will have a higher profit if it sends out two

fleets ($12,000 rather than $10,000). If the EU sends out two fleets, the United States will have a higher

profit if it also sends out two fleets ($7,500 rather than $4,000). The same reasoning will persuade the EU

that its best strategy is also to send out two fleets whether the United States sends out one or two. Both

parties will send out two fleets, each earning only $7,500 each instead of the $10,000 they would each

have earned if they had each limited themselves to one fleet.
b. Suppose that the fish stocks are being depleted. Each region considers the future and comes to a “tit-for-tat” agreement whereby each side will send only one fleet out as long as the other does the same. If either of them breaks the agreement and sends out a second fleet, the other will also send out two and will continue to do so until its competitor sends out only one fleet. If both play this “tit-for-tat” strategy, how much profit will each make every week?

If both play a “tit-for-tat” strategy, they each will begin by sending out one fleet. The week after that,

each does what the other one did the week before—that is, each again sends out one fleet, and so on.

As a result, the United States and the EU will each have a profit of $10,000 every week.

